- E_westernpuwer

Distribution Design Catalogue

Running Earth and Street Light Feed
Section 03 (RE)

© Copyright of Western Power
ABN 18540492861



Running Earth and Street light Feed

RE Drawings Revision List

CU DATE REVISION | DESCRIPTION OF REVISION

Sept 2002 Original Issue

Dec 2005 Refer to Amendment List

May 2009 Refer to Amendment List

Dec 2009 Refer to Amendment List and Revised Format
Apr 2011 Refer to Amendment List

Jul 2013 Refer to Amendment List

Oct 2013 Refer to Amendment List

Nov 2014 Refer to Amendment List

Dec 2014 Refer to Amendment List

April 2015 Refer to Amendment List

Sept 2015 Refer to Amendment List

June 2016 Refer to Amendment List

Aug 2016 Refer to Amendment List

Mar 2017 Refer to Amendment List

Apr 2018 Refer to Amendment List

Dec 2018

Refer to Amendment List




Running Earth and Street light Feed

Running Earth and Street light Feed List

Cu CU DESCRIPTION

RE1 Running earth intermediate

RE2_7/475A Running earth angle — 7/4.75 AAC/AAAC
RE2_7/250A Running earth angle — 7/2.50 AAC/AAAC and 6/1/3.00 ACSR/AACSR
RE2_3/275SC Running earth angle — 3/2.75 SCGZ

RE2_7/160SC Running earth angle — 7/1.60 SCGZ

RE2_3/275AC Running earth angle — 3/2.75 SCAC

RE3_7/250AA Running earth termination — 7/2.50 AAC and AAAC
RE3_7/475AA Running earth termination — 7/4.75 AAC and AAAC
RE3 19/325AA Running earth termination — 19/3.25 AAC and AAAC
RE3_3/275AC Running earth termination — 3/2.75 SCAC

RE3 3/275SC Running earth termination — 3/2.75 SCGZ
RE3_7/160SC Running earth termin — 7/1.60 SCGZ

RE3_6/1/300 Running earth termin - 6/1/3.00 AACSR/AC

RE4 Running Earth Intermediate Angle 2° to 10°

RE6 Running earth Intermediate Wishbone Raiser

RE7 _TC Street light Feed Termination - concrete

RE7_TW Street light Feed Termination - wood

RE8 IC Street light Feed Intermediate - concrete

RE8_IW Street light Feed Intermediate - wood




Running Earth and Street light Feed

= e

RUNNING EARTH
INTERMEDIATE

ALUMINIUM

RUNNING EARTH

RUNNING EARTH

ANGLE TERMINATION
RE1 RE2 RE3
i
=

— CONCRETE

RUNNING EARTH RUNNING EARTH STREET LIGHT FEED

INTERMEDIATE INTERMEDIATE TERMINATION

ANGLE 2° TO 10° e, WISHBONE RAISER e RE?

CONCRETE

STREET LIGHT FEED

INTERMEDIATE 5

COMPATIBLE UNIT

DISTRIBUTION DESIGN ‘-:g!westernpower

TITLE

0412 14

FORMAT CHANGED AND RE4 ADDED JC

REE

GS

)

270913

ORIGINAL ISSUE

DATE

DESCRIPTION ORGO

CHED

IAPRD

RE COMPATIBLE UNITS

DRG. Na

RE INDEX

REV ‘SHT

DRAWN  JRR _ [DATE 17-04-201
ORIGINATED [SCALE NTS
CHECKED:  REE

APPROVED
GRANT STACY




Running Earth and Street light Feed

) )
\—/ L/
= 350 i<"
| I
! |
Y d . " -
X di Wx i Design_Dimensions
im im ~
- Phose X dim Y dim
Origin(0:0)
| R/E 350 0
Y dim
Origin - Bolt (0:0)
Attachment height - DCSH
DISTRIBUTION DESIGN H
COMPATIBLE UNIT RIBUTION O ‘ S8 westernpower
TTLE DRAWN JRR ‘DATE 17-04-201L |DRG. No
QRIGINATED ‘S[ALE NTS
E 02 02.12 | DISPERSION PLATE ADDED REE Jc GS R U N N ‘ N G EA RTH - ‘ NT ER M ED ‘ AT E CHECKED REE R E O /‘
0 |28.03 13| ORIGINAL ISSUE APPROVED REV SHT
REV | DATE DESCRIPTION ORGD |CHKD |APRD GRANT STACY ‘




Running Earth and Street light Feed

Cu CU Description
RE1 Running earth intermediate
ITEM STOCK DESCRIPTION Qry UNIT OF REMARKS
NUMBER Cobe RQD | MEASURE
1 IA0256 | shackle insulator 1 ea
2 AB6732 | Pole bolt - M16x550mm Ig with nut and washers 1 ea
3 CE7541 | dispersion plate 1 ea




Running Earth and Street light Feed

STEEL CONDUCTOR
(SCGZ & SCACQ)

ALUMINIUM CONDUCTOR
(AAC, AAAC & ACSR/AACSR)

Y . . .
" Design Dimensions
Xt X di - -
X Phase X dim Y dim
Origin{0:0)
v I‘1 R/E 350 0
hm
V Origin - Bolt {0:0)
Attachment height - DCSH
COMPATIBLE UNIT DISTRIBUTION DESIGN |.=§!westernpower
TTLE DRAWN  JRR  [DATE 17-04-201 [ORG. No
F_ | 131118 [SUB TITLE CHANGED NN_[ REE | GS ORIGINATED [scae nrs
£ [210975 |FORMAT CHANGED AND EYE BOLT REVISED JC_| REE | GS | ANGLE RUNNING EARTH CHECKED  REE R E 02
0|7 04 1 | ORIGINAL ISSUE APPROVED REV _ [SHT
REV | DATE DESCRIPTION [ORGO [CHKD [aPRD GRANT STACY F




Running Earth and Street light Feed

Cu CU Description
RE2_7/475A Running earth angle - 7/4.75 AAC /| AAAC
ITEM STOCK DESCRIPTION Qry UNIT OF REMARKS
NUMBER Cobe RQD | MEASURE
1 AB6025 | eyebolt M16x400 long with nut and washer 1 ea
2 0S0055 | bow shackle 1 ea
3 CC0166 | Angle assembly 1 ea
5 CE7541 | dispersion plate 1 ea
RE2_7/250A Running earth angle - 7/2.50 AAC / AAAC and 6/1/3.00 ACSR/AACSR
ITEM Stock DESCRIPTION Qry UNIT OF REMARKS
NUMBER CoDE RQD | MEASURE
1 AB6025 | eyebolt M16x400 long with nut and washer 1 ea
2 0S0055 | bow shackle 1 ea
3 CC0167 | Angle assembly 1 ea
5 CE7541 | dispersion plate 1 ea
RE2_3/275SC Running earth angle - 3/2.75 SCGZ
ITEM STOCK DESCRIPTION Q1Y UNIT OF REMARKS
NUMBER Cobe RQD | MEASURE
1 AB6025 | eyebolt M16x400 long with nut and washer 1 ea
2 0S0055 | bow shackle 1 ea
3 CA0055 | Angle assembly 1 ea
4 CF0661 | Helical termination 2 ea
5 CE7541 | dispersion plate 1 ea
RE2_7/160SC Running earth angle - 7/1.60 SCGZ
ITEM SToCK DESCRIPTION Q1Y UNIT OF REMARKS
NUMBER Cobpe RQD | MEASURE
1 AB6025 | eyebolt M16x400 long with nut and washer 1 ea
2 0S0055 | bow shackle 1 ea
3 CA0055 | Angle assembly 1 ea
4 CF0669 | Helical termination 2 ea
5 CE7541 | dispersion plate 1 ea
RE2_3/275AC Running earth angle - 3/2.75 SCAC
ITEM StocK DESCRIPTION Qry UNIT OF REMARKS
NUMBER Cope RQD | MEASURE
1 AB6025 | eyebolt M16x400 long with nut and washer 1 ea
2 0S0055 | bow shackle 1 ea
3 CA0055 | Angle assembly 1 ea
4 CF0700 | Helical termination 2 ea
5 CE7541 | dispersion plate 1 ea




Running Earth and Street light Feed

()
ALUMINIUM CONDUCTOR
(AAC, AAAC & ACSR/AACSR)
omn
STEEL CONDBUCTOR
(SCAC)
1o
STEEL CONDUCTOR
(SCGZ)
< Design Dimensions
Phase X dim Y dim
R/E 0 0

Y/tm Origin - Bolt (0:0)
X din X dim Attachment height - DCSH

Orign(0:0)

Y‘mm

v

COMPATIBLE UNIT DSTRIBUTION DESIGN ‘.:g!westernpower
e DRAWN.  JRR  [DATE- 17-04-201 [ORG Na

5105 FORRAT CANGED 0 1 BOLT GHAGED SEIE)  RUNNING EARTH TERMINATION [ REO3
Z;:?f CRENAL S DESCRIPTION ORGD_[CHKD [APRD AR GRANT STACY - ‘SHT




Running Earth and Street light Feed

CuU CU Description
RE3_7/250AA Running earth termin — 7/2.50 AAC/AAAC
ITEM SToCK DESCRIPTION Qry UNIT OF REMARKS
NUMBER Cobe RQD | MEASURE
1 AB6025 | eyebolt M16x400 long with nut and washer 1 ea
2 CT0011 | clevis thimble alum 1 ea
3 CF0752 | Helical termination 1 ea
4 CE7541 | dispersion plate 1 ea
RE3_7/475AA Running earth termin — 7/4.75 AAC/AAAC
ITEM StocK DESCRIPTION Qry UNIT OF REMARKS
NUMBER Cobe Rop | MEASURE
1 AB6025 | eyebolt M16x400 long with nut and washer 1 ea
2 CT0011 | clevis thimble alum 1 ea
3 CF0757 | Helical termination 1 ea
4 CE7541 | dispersion plate 1 ea
RE3 _19/325AA Running earth termin — 19/3.25 AAC/AAAC
ITEM SToCcK DESCRIPTION Qry UNIT OF REMARKS
NUMBER Cobe RQD | MEASURE
1 AB6025 | eyebolt M16x400 long with nut and washer 1 ea
2 CT0011 | clevis thimble steel 1 ea
3 CF0758 | Helical termination 1 ea
4 CE7541 | dispersion plate 1 ea
RE3 3/275AC Running earth termin — 3/2.75 SCAC
ITEM StocK DESCRIPTION Qry UNIT OF REMARKS
NUMBER Cobe Rop | MEASURE
1 AB6025 | eyebolt M16x400 long with nut and washer 1 ea
2 CT0011 | clevis thimble steel 1 ea
3 CF0700 | Helical termination 1 ea
4 CE7541 | dispersion plate 1 ea
RE3 3/275SC Running earth termin — 3/2.75 SCGZ
ITEM STocK DESCRIPTION Qrty UNIT OF REMARKS
NUMBER Cobe RQD | MEASURE
1 AB6025 | eyebolt M16x400 long with nut and washer 1 ea
2 CT0037 | clevis thimble steel 1 ea
3 CF0661 | Helical termination 1 ea
4 CE7541 | dispersion plate 1 ea




Running Earth and Street light Feed

Cu CU Description
RE3 7/160SC Running earth termin - 7/1.60 SCGZ
ITEM STOCK DESCRIPTION Q1Y UNIT OF REMARKS
NUMBER CobE RQD | MEASURE
1 AB6025 | eyebolt M16x400 long with nut and washer 1 ea
2 CT0037 | clevis thimble steel 1 ea
3 CF0669 | Helical termination 1 ea
4 CE7541 | dispersion plate 1 ea
RE3_6/1/300 Running earth termin - 6/1/3.00 AACSR/AC
ITEM STOCK DESCRIPTION Q1Y UNIT OF REMARKS
NUMBER Cobe RQD | MEASURE
1 AB6025 | eyebolt M16x400 long with nut and washer 1 ea
2 CT0011 | clevis thimble steel 1 ea
3 CF0611 | Helical termination 1 ea
4 CE7541 | dispersion plate 1 ea




Running Earth and Street light Feed

DISTRIBUTION DESIGN | _ aefB|
COMPATIBLE UNIT RBUTON OE |-.5!westernpower
e DRAWN _JRR__[DATE 03-12-20% [ORG o
E_[260318|SHACKLE TYPE CHANGED JC [T 6 RUNNING EARTH ORIGINATED [scaLenrs REOL
0|04 1214 |FORMAT CHANGED AND REDRAWN cHEckED.  REE
€ [2709 13| ORIGNAL ISSUE i INTERMEDIATE ANGLE 2° TO 10° APPROVED REV _ [SHT
[REV | DATE DESCRIPTION [0RGO [CHKD [APRO| GRANT STACY E




Running Earth and Street light Feed

Cu CU Description
RE4 Running Earth Intermediate Angle 2° to 10°
ITEM SToCK DESCRIPTION Qrty UNIT OF REMARKS

NUMBER Cobe RQD | MEASURE

1 AB6732 | Pole bolt — M16x550 Ig with nut and washers 1 ea

2 CB0316 | Shackle ‘U’ Style 1 ea

3 CE7541 | Dispersion Plate 1 ea

4 IA0256 | Strain Insulator Porcelain Blue 1 ea




Running Earth and Street light Feed

SELECT APPROPRIATE
PG CLAMP FROM (N9

~J
e e S B
(=]

F

SEE DETAIL A

L‘tJlJ

DETAIL A

Y dim

X dim X dim Running Earth Dimensions

Originl0:0) X dim Y dim
Overhead 350 700

|
Y dim

Origin - Top bracket bolt (0:0)
COMPATIBLE UNIT wsapurEnseson | .sZ westernpower
TITLE DRAWN  JRR  [DATE 17-04-201 [ORG. No
RUNNING EARTH ORIGINATED [scae  nrs RE06
0|08 08 13| ORIGINAL ISSUE INTERMEDIATE WISHBONE RAISER i:;?a(o?m = REV _ [SHT
REV | DATE DESCRIPTION [ORGD [CHD [APRD GRANT STACY E




Running Earth and Street light Feed

Cu CU Description
RE6 Running earth intermediate wishbone raiser
ITEM STOCK DESCRIPTION Q1Y UNIT OF REMARKS

NUMBER Cobe RQD | MEASURE

1 IA0256 | shackle insulator 1 ea

2 CB0170 | earth raiser bracket 1 ea

3 AB6733 | Pole bolt — M16x400 Ig with nut and washers 2 ea

4 AB4611 | bolt — M16x120mm Ig with nut and washers 1 ea

5 CE7541 | dispersion plate 2 ea

6 0G0351 | U-bolt 2 ea




Running Earth and Street light Feed

W0OD POLE /

fjjﬁ
= o

ﬂ

CONCRETE POLE

NOTE -

1 NO NEW STREET LIGHT SWITCH WIRE SHALL BE INSTALLED

2 ALL NEW OR REPLACEMENT STREET LIGHTS THAT ARE PART OF THE
AERIAL NETWORK MUST BE QOF THE PE TYPE AND FED FROM THE LV

DISTRIBUTION DESIGN -
COMPATIBLE UNIT mvronseson | sE4 westernpower
TTLE DRAWN. JRR lDATE 17-04-2014 [ORG. No
STREET LIGHT FEED ORGNATED __[ScAE s | REQ7
10716 CHECKED.  REE
01013 zgfuinﬁv::i i T E R M l N A T l 0 N APPROVED REV. _[SHT
DATE DESCRIPTION [ORGD [CHKD [APRD GRANT STACY B




Running Earth and Street light Feed

Cu CU Description
RE7_TC Street light Feed Termination_concrete
ITEM STOCK DESCRIPTION Qty | UNIT OF REMARKS
NUMBER Cobe RQD | MEASURE
1 CB3020 | Universal ABC bracket 1 ea
2 CC0112 | Clamp strain wedge 6-25sq mm 1 ea
3 CB3055 | Bracket ABC suspension clamp 2 ea
4 32mm Bandit strap 1 As reqd
RE7_TW Street light Feed Termination_wood
ITEM SToCK DESCRIPTION Q1Y UNIT OF REMARKS
NUMBER Cope RQD | MEASURE
1 AB6037 | Eye bolt M20 350mm Ig 1 ea
2 CC0112 | Clamp strain wedge 6-25sq mm 1 ea
5 CZz0335 | Helical coil spring washer M20 1 ea
6 AW3546 | Washer square 50x50mm M20 1 ea




Running Earth and Street light Feed

i

WOGOD POLE

CONCRETE POLE

COMPATIBLE UNIT

TITLE

7 Tmelws] O TREET LIGHT FEED - INTERMEDIATE

B [090616[ITEM 5 & 6 ADDED
A |22.04 1k | ORIGINAL ISSUE
REV | DATE DESCRIPTION ORGO [CHKD_[APRD]

SRR | ~s4 westernpower

DRAWN.  JRR ‘DATE 17-04-2014 [DRG No

ORIGINATED [scae NS
CHECKED _REE REOS

APPROVED REV _ [SHT
GRANT STACY B




Running Earth and Street light Feed

Cu CU Description
RE8_IC Street light Feed Intermediate- concrete
ITEM Stock DESCRIPTION Qry UNIT OF REMARKS
NUMBER Cobe RQD | MEASURE
1 CB3020 | Universal ABC bracket 1 ea
2 CC0112 | Clamp strain wedge 6-25sq mm 2 ea
3 CB3055 | Bracket ABC suspension clamp 2 ea
4 32mm Bandit strap 1 As reqd
RE8 IW Street light Feed Intermediate - wood
ITEM StocK DESCRIPTION Qry UNIT OF REMARKS
NUMBER CoDE RQD | MEASURE
1 AB6037 | Eye bolt M20 350mm Ig 1 ea
2 CC0112 | Clamp strain wedge 6-25sq mm 2 ea
5 CZ0335 | Helical coil spring washer M20 1 ea
6 AW3546 | Washer square 50x50mm M20 1 ea




